DELHI PUBLIC SCHOOL, BHILAI (C.G.)
DATE: 08-03-2018 ANNUAL EXAMINATION, 2018 Time: 2 % Hours

CLASS : IX FOUNDATION!: OF INFORMATION TECHNOLOGY MM :40

No. of printed page: 1
NOTE: Ali questions are compulsory. ‘
1)Explain the following electronic devices/ parts used with computer. ‘ 1*6=6

1) MICR 2) LIGHT PEN 3) PLOTTER 4y ALU 5 MODEM 6)OMR
2)State True or False:

1. Virus is type of Malware. ' 1*6=6

. There are 65000 rows in Open Office Calc.

. Mail merge is the facility of word processing software.

Copyright & Patent is one and the same thing.

Words that are misspelled appear with blue wavy lines under lines as you type.
6. Scanner is an output device.

3)Answer the following questions:( short answer ) 1*10=10
1. What is Intellectual Property Right?

Write any two functions of operating system.

Define the term soft lifting?

Describe any two statistical functions?

What is a computer program?

Name any two types of spreadsheet chart?

Describe any two views of Presentation in Office Impress.

What are the various text alignments in Office Writer?

. Name any two utility software?
10. What do you mean by templates?

4)Answer the following questions ( long answer ) 2*5=10
1. Differentiate between Open Office Calc. & Open Office Impress.
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2. What is Cell Reference? and describe any two types of cell referencing.
3. Explain Plagiarism & Piracy?
4. Describe various types(any 4) of secondary memory.
5. Describe various component of spreadsheet chart?
5) Draw & describe the Functional Block diagram of computer 4
6) Draw the Table given below and answer the following questions @ desired location. 4
A B C D E F G H
1 | NAME MATHS| SCIENCE | SOC.SCL| HINDI | ENGLISH | FOIT
2 | SNEHA 49 33 36 31 37 44
3 | VINAMRA 23 46 44 36 22 45
4 | RASHI 14 . 38 49 41 49 43
5 | ROHIT 47 36 42 46 47 29
6 | MEENAL 44 35 30 40 50 48
7

1) Write the formula/ function to calculate total marks obtain by ROHIT in HS cell.
2) Write the formula/ function to calculate subject mean of Maths in B7 cell.

3) Write the formula/ fimction to calculate Aggregate % of MEENAL IN H6 cell.
4) Write the steps to obtain the pie chart based on above table data.
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DELHI PUBLIC SCHOOL, BHILAI (C.G)
DATE :21-02-2018 ANNUAL EXAMINATION, 2018 - Time: 3 Hours

CLASS :IX MATHEMATICS M.M: 80

General Instructions—

()  All Questions are compulsory.

(i1) The question paper consists of 30 questions, divided into 4 sections A,B,C and D.

(iif) Section A contains 6 questions of 1 mark each, section B contains 6 questions of 2 marks each, section C
contains 10 questions of 3 marks each and section D contains 8 questions of 4 marks each.

(iv) There is no overall choice. However, internal choices have been provided in four questions of 3 marks
each and three questions of 4 marks each. You have to attempt only one of the alternatives in all such

questions.

SECTION A

Question Nos. 1 to 6 carry 1 mark each :

1) Is the number (3 — v7)(3 + /7) rational or irrational?

2) In which quadrants the points (3, —5) and (—4, 5) lie?

3) Find a, if linear equation 3x — ay = 6 has one solution as 4,3
4) Areaof A ABC is 14 cm?,

If AD is the median to side BC, find area (A ACD)

5) Inthe given figure, LZABC = 69°, LACB = 31°.

Find £BDC

6) If the median of the observations x,x + 3,x + 5,x + 7,x + 10 is 9, find the fourth observation.

SECTIONB

Question Nos. 7 to 12 carrv 2 marks each ¢

7)  Give equations of two lines passing through (3,10)

8) In aquadrilateral, three angles are in the ratio of 3:3:1 and the fourth angle is 80°. Find the measures of equal
angles.

9) Find the median and mode of the data :
42,52,41,39,48,52,46,62,54,40,96,52,98, 40, 50
10) Find the mean of all the prime numbres lying between 20 and 30.
11) Following table shows the birth months of 100 students of class XIL
JAN | FEB | MAR | APR| MAY |JUNE |JULY |AUG. | SEPT.|OCT. | NOV | DEC.

5 6 7 8 10 14 7 10 7 8 10 8

Find the probability that a student was born in May or June.
12) The percentage of marks obtained by a student in the monthly unit tests are given below :

UNIT TEST I 1I I v v
PERCENTAGE OF MARKS OBTAINED | 69 71 73 68 74

Based on this data, find the probability that
i) the student gets more than 70% marks in a test.
i) the student gets less than 60% marks in a test.
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SECTION C
Question Nos. 13 to 22 carry 3 marks each :
5+2‘\/§ Jo— [ 61,
13) f—==a+ b3, find the values of ‘a’ and ‘b’.
(OR)
1 2 1
Prove that : 2+\/§+\/§_\/§+2_\/.5_—- 0

14) I x +y + z = 0, then show that x3 + y> + z°> = 3xyz
(OR)
Factorise : 2y3+y?—2y—1
15) Draw a square ABCD whose vertices are A(1,2), B(=7,2), C(-~7, —=6) and D (1,-6) respectively.
16) In the given figure, if AC=BD, then prove that AB=CD.

ﬁ}‘ . ' ' __@; o .D_

17) If a transversal intersects two lines such that the bisectors of a pair of corresponding angles are parailel,

then prove that the two lines are parallel.

(OR)
In the given figure, ray OS stands on a line POQ. <,
Ray OR and ray OT are angle bisectors of ZPOS LN
and ZSOQ, respectively. If ZPOS =x find LROT oy T
>

< -z

i O &
18) In the given figure, PR>PQ and PS bisects ZQPR. e

Prove that ZPSR > £ZPSQ
® S &

(OR)

In the given figure, A LMN is an isosceles triangle
with ZM=2N and LP bisects ZNLQ.

Prove that LP||MN.

19) In the given figure, O is the centre of the circle

and /BOC=130°.

Find the measure of ZADC and ZAEC

20) Construct an angle of measure 105° using compass. (No steps of construction)

21) If the non-parallel sides of a trapezium are equal then prove that it is a cyclic trapezium.



22)

23)

24)
25)

26)

27)

cuse 3 I
. .

The following table gives the life times of 400 neon lamps.
Life time (in hours) | Number of lamps
300 — 4060 14
400 — 500 56
500 - 600 60
600 — 700 86
700 - 800 74
800 - 900 62
900 - 1000 48

Represent the given information with the help of a Histo gram.

SECTIOND
(Question nos. 23 to 30 carry 4 marks each)
Represent v5.2 on the number line.

(OR)
Represent V10 on the number line and justify its construction.

Find the value of k, if (x — 3) is a factor of p(x) = 2x3 — 5x2 + 3x + k.

Draw the graph of the linear equation x + 2y = 8 and find the coordinates of the vertices of the
triangle so formed by the given line and the coordinate axes.

A hemispherical dome of a building needs to be painted. If the circumference of the base of the
dome is 17.6 m, find the cost of painting it, given the cost of painting is ¥ 5 per 100 cm”.
(use w =22/7)

(OR)
A square piece of paper of side 12 cm is rolled to form a cylinder. Find the curved surface area of
the cylinder.
XY is a line parallel to side BC of a AABC. If BE||AC and CF{|AB meet XY at E and F
respectively, show that ar(ABE)=ar(ACF)

(OR)
If a triangle and a parallelogram are on the same base and between the same parallels, then prove
that the area of the triangle is equal to half the area of the parallelogram.

28) A field is in the shape of a trapezium whose parallel sides are 25 m and 10 m. The non-parallel

29)

30)

sides are 14 m and 13 m. Find the area of the field.
Construct a A XYZ in which £Y=30°, £Z=90° and XY+YZ+ZX = 11 cm.

A village, having a population of 4000, requires 150 litres of water per head per day. It has a tank
measuring 20 m x 15 m x 6 m. For how many days will the water of this tank last?
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DELHI PUBLIC SCHOOL, BHILAI (C.G.)
DATE: 01-03-2018 ANNUAL EXAMINATION, 2018 Time: 3Hours
CLASS : IX ENGLISH COMMUNICATIVE M.M. :80

General Instructions :
1. The question paper is divided into three sections.
Section A: Reading 20 marks
Section B: Writing & Grammar 30 marks
Section C: Literature & Long Reading Text 30 marks
2. All questions are compulisory,

3. All questions of a section must be attempted in the correct order.

SECTION A : READING 20 marks
1. Read the passage given below and answer the questions that follow: (8marks)
School Breaks Up

1. With dry lips, parched throat, and ink stained fingers, and exhaustion on one side and exaltation on the
other, Swaminathan strode out of the examination hall on the last day. Standing in the verandah, he
turned back and looked into the hall and felt slightly uneasy. He would have felt more comfortable if all
the boys had given their papers as he had done, twenty minutes before time. With his left shoulder
resting against the wall, Sankar was lost to the world. Rajam, sitting under the second ventilator,
between two third form boys, had become a writing-machine. Mani was still gazing at the rafters,
scratching his chin with the pen. Another classmate was leaning back in his seat, revising his answers.
One supervisor was drowsing in his chair; another was pacing up and down with an abstracted look in
his eyes. The scratchy noise of active nibs, the rustle of papers, and the clearing of the throats, came
through the brooding silence of the hall.

2. Swaminathan suddenly wished that he had not come out so soon. But how could he have stayed in the
hall longer? The Tamil paper was set to go on till five o** clock. He had found himself writing the last
line of the last question at four thirty. Out of the six questions, he had answered the first question to his
satisfaction, the second was doubtful, the third was satisfactory, the fourth he knew was clearly wrong
(but then, he did not know the correct answer). The sixth answer was the best of the lot. It took only a
minute to answer it. He had read the question at two minutes to four thirty, started answering a minute
later, and finished it at four thirty. The question was: What moral do you infer from the story of the
Brahmin and the Tiger?

3. A Brahmin was passing along the edge of a pond. A tiger hailed him from the other bank and offered
him a gold bangle. The brahmin at first declined the offer, but when the tiger protested its innocence
and sincerity and insisted upon his taking the bangle, he waded through the water. Before he could hold
out his hand for the bangle, he was inside the tiger.

4. Swaminathan had never thought that this story contained a moral. But now he felt that it must have one
since the question paper mentioned it. He took a minute to decide whether the moral was : “We must
never accept a gold bangle when it is offered by a tiger” or “Love of gold bangle cost one one’s life”.
He saw more logic in the latter and wrote it down. After writing, he had looked at the big hall clock.
Half an hour more! What had he to do for half an hour more! What had he to do for half an hour? But
he felt awkward to be the first to go out. Why could not the others be as quick and precise as he?

5. He had found it hard to kill time. Why wasn’t the paper set for two and a half hours instead of three?
He had looked wistfully at the verandah outside. If only he could pluck up enough courage to hand in
the paper and go out — he could have no more examination for a long time to come — he could do what
he pleased roam about the town in the evenings and afternoons and mornings — throw away the books —
command Granny to tell endless tales. He had seen a supervisor observing him and had at once
pretended to be busy with the answer paper.

Attempt any eight of the following questions on the basis of the passage you have read. (1x8=8 marks)
a) How did Swaminathan stride out of the examination hall on the last day?
b) Why did Swaminathan feel slightly uneasy standing in the verandah?
¢} What did he suddenly wish?
d) Why did the Brahmin lose his life?
PTO
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e) Why did Swami go with the second option of the moral of the story?

f) What were the different sounds that could be heard in the silence of the examination room?
g) What did Swaminathan do when he saw a supervisor observing him?

h) What did Swaminathan long to do after his examinations were over?

i) Find the word from the passage which means ‘extreme happiness.” (Para 1)

Q 2. Read the passage given below and answer the questions that follow: (12 marks)

DANGER FOR CRUISE SHIPS

Scientists say that despite a century of technological gains, ships rely heavily on a detection method as
old and as fallible as sailing itself. Take for example the dangers posed by icebergs. “Icebergs are very
dangerous objects because they drift, they are not stationary, and in higher wave conditions they can be
masked or hidden from a ship’s radar. That’s why they are still a danger today,” says Michael Hicks of
the International Ice Patrol (IIP). Icebergs can be healthy leviathans, veiled by rough seas, fog or low
light. “There are still invisible threats,” says Hicks.

The odds of hitting an iceberg today are about one in 2,000- twice as remote as they were in April 2012
when the greatest ship of its time took, 1,514 people to a watery grave, estimates Brian Hill, a specialist
with Canada’s National Research Council (NRC). On average two icebergs collisions occur each year,
and a near — disaster involving a cruise ship in 2007 showed that an unsinkable vessel has yet to be built.

Formed in 1931, the year after the Titanic’s demise, the IIP patrols half a million square nautical miles
(1.7 million sq. kilometers) of the northwest Atlantic.

Its beat includes “Iceberg Alley”, the shipping lanes off the Great Banks of Newfoundland and the east
coast of Labrador where icebergs, breaking off from Greenland, prowl between February and July. The
agency has resorted to unorthodox measures in its attempts to track the wandering giants.

It tried o paint icebergs red, but the colour washed off. It tried to drop radio transmitters on them — a
mighty task for a plane flying over at up to 180 knots (350 mph) .It even tried bombing. “Just a few
pieces broke off”, says Hicks. “It didn’t have much effect™.

A later attempt to detonate explosives planted inside an iceberg was slightly more effective, “but”, says
Hicks. So the IIP switched all its efforts to early warning. It uses radar — equipped Hercules aircraft and
collects reports from passing ships and satellites. Not a single skipper who heeded its warnings has hit
an iceberg, says Hicks proudly. Man has huge faith in space technology, bur satellites are of limited
value here as they cannot tell smaller icebergs from ships. “There is always a visual recognition issue
and for very small icebergs there is always going to be that residual risk”, says Mark Drinkwater, a
cryosphere expert at the European State Agency (ESA).

According to the ship Iceberg Collision Database held by Canada’s NRC, there has been a steady
decline in incidents since 1913.

There were 57 iceberg collisions in the northern hemisphere from 1980 to 2005, an average of 2.3 per
year — down from 170 hits or 6.8 per year in the 25 years up to 1912, adds Hill. The last passenger ship
to sink with fatalities after hitting an iceberg was the Hans Hedtoft, which went down off southern
Greenland in January 1959 with 95 people on board. In November 2007, the cruise ship MV Explorer

sank after hitting an iceberg off the Antarctic Peninsula’s northern tip. All 100 passengers and 54 crew
were saved.

2.1 On the basis of your reading of the passage, answer any four the following questions in about 30-40
words each : (2x4=8)

(a) Why are icebergs considered dangerous objects on the sea?

(b) Name any two measures adopted by the IIP to track the Icebergs.

(c) Why did the use of explosives planted inside the icebergs fail?

(d) Give two reasons why satellites have a limited value in detecting icebergs at sea.
(e) Whatis ‘Ice berg Alley’?

2.2 On the basis of your reading of the passage, fill in any twe of the following blanks with appropriate

words/phrases. {1x2=2)
(a) Icebergs get veiled by

(b) International Ice Patrol (IIP) was formed in
(c) A passenger ship that sank after hitting an iceberg

PTO
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© 2.3. Attempt any two of the following. Find out the words that mean the same as under: {1x2 =2)
~ (a) concealed/ hidden (Para 1)

(b) violent striking together (Para2)

(c) a gradual lessening or worsening (Para 5)

SECTION B: WRITING AND GRAMMAR (30 Marks)

Q3  Yesterday, you saw a cow near a garbage dump consuming food from plastic bags— a very
common sight nowadays. Though plastic bags are banned, they are commonly used across
the country. They pose a great threat to our health as well as our environment. Taking
ideas from the MCB unit on Environment and the visual given below, write an article in
about 100-120 words on the dangers caused by these plastic bags. (8 marks)

Bumrie.

OR
You are Gauri/ Gaurav. You recently visited an Old People ‘s Home as part of your school
Outreach Programme. Write a diary entry in 100-120 words recounting the details of what

you saw and how you felt. (8 marks)
Q 4. Write a short story, in about 200-250 words, with any one set of the cues given in the boxes
below. Give a suitable title to the story . (10 marks)
OR

It was late at night. Arjun was about to switch off the light and go to bed when he saw a light outside

the window. On close observation he realized that it was fire .

Harry looked with pride at what he had created -------—--- a robot --------- amazing feats------ sudden
disorientation------ technical defect------- one human error-----devastating impact.

Q 5. Fill in any four of the following blanks choosing the most appropriate option from the ones

given below. Write the answers in your answer sheet against the correct blank numbers. (4 marks )

The first test tube baby turtle (a) last month in California. The story began (b)

a broken turtle egg (c) on the seashore. Scientists are working carefully to bring up the baby
turtle which has now grown. This winter the turtle (d) be returned (e) the
sea.

(&) (i) was born (ii) were born (iii) is born (iv) are born
(b) (i) where (ii) which (iii) when (iv) who

(¢) (i) is find (ii) was found (iii) are finding (iv) found
(d) (i) might (ii) could (iii) must (iv) would

(e) (i) to (ii) at (iii) in (iv) on

Q 6) In the following passage one word has been omitted in each line. Write the missing word, in any
four sentences of the given paragraph, along with the word that comes before and the word that

comes after it in the space provided . ( 4 marks)
Before Missing Word After
Milk is perfect food. It should form a Eg. Is a perfect
(a) part of daily diet. Doctors advise never to a)
(b) miss a daily glass of milk. It is good the people b)
(c) of ages but it is especially needed for growing children c)
(d) because of nourishing value. Milk contains d)
(e) all necessary minerals and vitamins €)

for a strong and healthy body.
So drink a glass of milk every day.
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Q 7) Rearrange any four of the following word clusters to make meaningful sentences. (1x4=4 marké)
eg. of mankind / the habit / reading is / one of / resources / of / the greatest
The habit of reading is one of the greatest resources of mankind.
1. are / we enjoy / that / belong to us / than if / much more / they / borrowed / reading books
2. book / formality / a certain considerate / must be treated / with / a borrowed
3. no book / that / afraid to / you should / mark up / own / you are
4. should begin / everyone / a private library / youth / collecting / in
5. to the hand/your library/should be/ as well as/ free and / accessible / to the eye

SECTION-C (LITERATURE) (30 marks)

Q 8 Read the extracts given below and answer the questions that follow. Write the answers in
your answer sheet in one or two lines only. (1x4= 4marks)
(a) The field and the cloud are lovers
And between them [ am a messenger of mercy.
I quench the thirst of the one,

I cure the ailment of the other.

a. Name the poetic device used in the first line.

b. Why has the rain been called a messenger of mercy?
c. How does the rain cure the ailment of ‘the other’?

d. What is meant by 'quench’?

OR
{b) By mid-April neighbors saw a daily struggle in front of Marcy’s house. Out on the side walk
they saw the dog pull his leash taut, then stand and wait.
a. What was the struggle the neighbours witnessed?
b. Why did the dog stand and wait?
c. What was the outcome of the struggle?
d. What is the meaning of taut’?
Q9 Answer any four of the following questions in 30-40 words each . (2%4 = § marks)
a. How did the Bishop react on learning about the betrayal by the convict?
b. What message does the story ‘How I Taught My Grandmother to Read’ convey?
c. Prevention is better than cure’- Do you think this proverb is appropriate for the poem ‘Oh, I
Wish I"d looked After Me Teeth’? Give reasons.
d. Why did Bill Bramble take back his decision of leaving boxing?
e. In what ways is Pescud like the hero of ‘The Best Seller’?
Q10. Attempt any one of the following questions in 100-120 words. (8 Marks)
{(a) Craftiness and selfishness are the so-called virtues in today’s scenario, rather a key to
success. Justify the statement in the light of “Villa for sale’.
OR
(b) “Anger is the vice that mars one’s sanity” In the context of the poem ‘Lord Ullin's
daughter’, justify the statement .
Q 11. Answer any one of the following questions in 200-250 words. {10 marks)
(a) Harris always ended up making a mess. Comment on Harris’ character in the light of this
statement with examples from the novel.
OR
(b) Describe the experience of the three friends while preparing the Irish stew.
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DATE :06-03-2018
CLASS : IX

DELHI PUBLIC SCHOOL, BHILAI (C.G.}
ANNUAL EXAMINATION, 2018 Time: 3 Hours

SOCIAL SCIENCE MM :80

General Instructions s

10.
11.
12.
13.

14.

15.

The question paper has 27 questions in all. All questions are compulsory.
Answer to 1 mark questions should not exceed 30 words each,

Answer to 3 mark questions should not exceed 80 words each.

Answer to 5 mark questions should not exceed 120 words each.

Question no. 15 in History and Civies is a map question of 2 marks and question no.6 in Geography is
a map question of 3 marks. After completion, attach the map inside the Answer book.

HISTORY & CIVICS

What were the Muslim reformers within the Russian empire, before the Russian Revolution (1917)

called? ¢y
Where was Adolf Hitler born in 1889? (Wame the country). (N
Name the African National Congress (ANC) leader, who was jailed in 1964 for treason. 48
What is Constituent Assembly? ' (M
Who is the Supreme Commander of the Indian Armed Forces? (D
Who issued a ‘Legal Framework Order’ in August, 2002 in Pakistan? (1)
What powers have been given by the Indian Constitution to the President of our country? 3)
What is political equality? Explain through examples of any two countries, where people have been
denied equal right to vote. ' (1+2=3)
What were the ideas of the liberals of Europe in the pre World War —I period, for building a strong
nation? 3
Who ruled France during the ‘Reign of Terror’? Why did it enrage the people? (1+2=3)
Describe the problems faced by the Weimar Republic. S
Discuss why the Maasai community of Africa lost their grazing fields. 5
What are Fundamental Rights? Discuss the three specific evils mentioned by the Indian Constitution,

that cause exploitation of the weaker sections. (2+3=5)
What are general and by-elections? What are the norms and guidelines under the Model Code of
Conduct, to be followed by the candidates and parties during an election? ‘ (2+3=5)
Identify and write the names of the countries participating in the World War -1, marked A&Bin ,
the World Map printed in your question paper. @
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GEOGRAPHY
What is the area of the landmass of India? '
How were the Himalayas formed?
Why are quite a few species of plants aﬁd animals en&angered in India? Give 3 reasons.
(i) What are the components of population growth?

~ (ii) Why has been is the rate of population growth in India declining since 19817

(i) Write 3 differences between Eastern ghats and Western ghats.

(ii) Write 2 characteristics of Thorn and Scrub forest.

(OR)

(i) Why does Tamilnadu coast receive winter rainfali?  (2+1+2)
(iiy Which place receives highest average rainfall in the world?

(iii) What is River Brahhmaputra called in Tibet? Why does it have less silt in its Tibetan part?

(a) Locate and label the following on the given political map of India.
(i) Corbett National Park
(i) State having highest sex ratio
(b) Identify item (A) marked on the political map of India: (A) Salt water Lake
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ECONOMICS
1. When was the Rural Employment Generation Programme (REGP) launched? \AGS (1)
2. How did the spread of electricity help farmers in Palampur? (3)
3. “Poverty is the root cause of many evils”. Suggest some measures to be taken by the
Government to eradicate poverty. (3)
4. What is vulnerability? Which group are most vulnerable to food insecurity? C(1+2=3)
5. Explain the following terms : (5)

(a) Buffer Stock

(b) Issue Price.

(¢) Minimum Support Price
(d) Fair Price Shops

{(e) Public Distribution System.

What is unemployment? What are the two types of unemployment prevalent in Rural areas?
Write any three factors responsible for this. (1+1+3=5)



DELHI PUBLIC SCHOOL, BHILAI (C.G.)

DATE: 26-02-2018 ANNUAL EXAMINATION, 2018 Time: 3 Hours

CLASS : IX SCIENCE MM. :80

General Instructions :

1) 1 mark questions are to be answered in one word or one sentence.
2) 2 marks questions are to be answered in 20-30 words.
3) 3 marks questions are to be answered in 50 words.
4) 5 marks questions are to be answered in 70 words.
5) There are internal choices in one of the 2 marks questions in Biology, 3 marks questions in
Physics, Chemistry and Biology and 5 marks questions in Physics and Chemistry also.
PHYSICS 27 marks

1) How will ‘G’ change on surface of Mars? Write S.1. unit of *G”.

2y Is momentum scalar or vector quantity? Write relationship between force and momentum.

3) A girl moves along the boundary of a square field of side 20 m in 80 sec. What will be the
magnitude of displacement at the end of 200 sec.? Also calculate average velocity.

4) a) State the factors on which buoyant force depends.

b) A force of 16 N is distributed uniformly on one surface of a cube of edge 8 cm.
Find the pressure on this surface.
¢) A wide steel belt is provided over the wheels of an army tank. Why?
(OR)
Show that weight of an object on surface of moon is 1/6™ of it’s weight on surface of earth.
(Given : mass of earth is 100 times the mass of moon and radius of earth is 4 times the radius
of moon.)

5) a) While swimming, a person pushes the water backwards to move forward, why?

b) For how long, a force of 100 N should act on a body of mass 20 kg so that it acquires a
velocity of 50 m/s? Calculate distance travelled by the body during this period.

6) a) i) Draw velocity-time graph for body which is initially in uniformly accelerated motion and
then travels with constant velocity. ii) In case of a freely falling body, name the physical
quantity which remains constant. 1ii) Which physical quantity is obtained by the slope of
displacement-time graph?

b) Derive the equation v? = u? + 2as using graphical method where symbols have their
usual meanings.

7) a) What is meant by average power?

b) Calculate the work required to be done to stop a car of 1500 kg moving at a velocity of
60 km/hr,

¢) A body of mass m is moving with velocity v, what will be effect on its K.E. if it’s velocity
becomes 1/4™ of initial value? Explain using proper mathematical steps.

8) a) State one difference between transverse and longitudinal wave.

b) A person clapped his hands near a cliff and heard the echo after 5 sec. What is the distance
of cliff from the person if speed of sound is taken 346 m/s?
¢) What is meant by infrasonic and ultrasonic sound? Write any two applications of ultrasonic
sound waves. '
(OR)

a) Define quality or timbre. Which property of sound depends on frequency?

b) Explain the following :

i) Roofs and walls of auditorium are covered with rough plasters.
ii) Curved sound boards are placed behind the stage of a concert hall.

e @ esd

Study the bove wave and answer the following questions —

(i) Calculate time period and frequency of the wave.

(ii) If the distance between points A and B on the wave is 50 cm then determine speed of the
wave. :



w2
9) .. A pulse is generated in a slinky at position X as shown in figure and simultaneously stopwatch
is started as shown in figure A. The stopwatch is stopped when pulse returns back to “X’.

The final reading of stopwatch is shown in figure B. Calculate speed of pulse generated in
slinky.

10) Write any two precautions related to the experiment to verify laws of reflection of sound.

If the angle between two metallic tubes in the set-up is 120°, what will be angle of incidence?
Explain your answer.

CHEMISTRY 23 marks
1) How does spreading of wet clothes quicken their drying? Explain.

2) a) Steam produces more severe burns as compared to boiling water. Give reason.
b) Give two factors which increase the rate of evaporation.
3) Ancelement ‘X’ forms an oxide with formula X,03.
a) State the valency of X.
b) Write the formula of (i) chloride of X (ii) sulphate of X
(OR)
(a) Define Avagadro’s number.
(b) Calculate the number of moles in 112 g of iron. (at mass of Fe =56 u)

4) (a) Explain Bohr and Bury’s rules for distribution of electrons into different shells.

(b) Draw the electronic structure of element X with atomic number 17 and element Y with
atomic number 16.

5) (a) A solution is prepared by adding 40 g of sugar in 100 g of water. Calculate the

,2'

concentration in terms of mass by mass percentage of solution. (2+2+1=5)

(b) State the principle used in separating different components of a mixture by the method of
centrifugation. List any two applications.

(c) Give two examples of suspension.

6) (a) Write the chemical formula using criss cross method
(i) Ammonium Chloride
(ii)) Magnesium Carbonate
(iii) Barium Nitrate
(b) (i) Define the term ‘molecular mass’.
(i) Determine the molecular mass of ZnSO, (at mass of Zn=65u, S=32u, O=16u)
(OR)
(a) There are 15 protons and 16 neutrons of an element. Calculate its atomic number and
mass number.

(b) (i) Whatis an Octet? How do elements reach an Octet?
(i1) Write the name of the sub-atomic particle discovered by J. Chadwick. What type of
charge occurs on this particle? In which part of the atom this particle is located?
7) Write two differences between suspension and true solution.

8) What happens when :
(i) Iron nail is put in CuSOy solution. (Give the equation).
(ii) Magnesium ribbon is burnt in air. (Give the equation).
PTO
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BIOLOGY 30 marks
1) Name two biologically important compounds that contain both oxygen and nitrogen. 1
2) What is the modification introduced by Carl Woose, in the classification proposed by
Whittaker. 1
3) Explain Why ? 2

a) Lysosomes are called ‘scavengers of the cell’,
b) Mitochondria are known as ‘Powerhouse of the cell’.

(OR)

ay What are ribosomes? Where are they located in the cell?
b) What is ‘membrane biogenesis’?

4) a) State two ways in which Phloem is functionally different from XYLEM. 3
b) Draw a neat diagram of a section of Phloem and label its four parts.

5) Continuous addition of fertilizers to the soil destroys its fertility. Long term fertilizers use is

substituted with the various cropping pattern to maintain the fertility of the soil —

L2

a) Mention the three cropping patterns

b) Write the basic differences between the cropping patterns.

¢) What type of values are shown by agriculturists to use bio-fertilisers instead of synthetic

fertilizers.

6) With the help of a diagram show,
a) Nitrogen cycle in nature.

b) Mention any two processes involved in the fixation of nitrogen in the nature.

a) How carbon exists in nature?

(OR)

b) With the help of a diagram explain the carbon cycle operating in nature.

7) a) Name one indigenous and one exotic breed of milch cow. 3

b) In what way the daily nutritional requirement of broilers different from those of egg-layers?

¢) For commercial honey production Italian honey bees are chosen mostly. Give two reasons.

8) a) Write the common names of the following : 5
(i) Hemidactylus (ii) Asterias (iii) Aranea (iv) Pheretima

b) Name the phylum to which they belong
¢) Define ‘Bionomial Nomenclature’.

9) a) With the help of suitable examples mention three ways in which microorganisms can enter

into human body.

b) Why is making anti viral medicines harder than anti-bacterial medicines?

¢) Mention the role of ‘vaccines’ in preventing diseases.

10) A student made a diagram of posterior end of cockroach studied in the lab. 2

a) Identify the sex of the cockroach with reason.

b) Mention another point to differentiate male
and female cockroach.

a) Identify the cell and also identify ‘A’,’B’,’C’
sequentially.

b) Which type of tissue is formed by such cells. 2
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- DELHI PUBLIC SCHOOL, BHILAI (C.G.)
DATE: 16-02-2018 ANNUAL EXAPVHNATION, 2018 Time: 90 min.

CLASS : IX GENERAL KNOWLEDGE M.M. :100
NAME : ROLLNO. CLASS/SEC

INVIGILATOR'’S SIGNATURE

General Instructions ;

®  All the questions are compulsory.
e  FEach question carries onemark.
©  For ‘match the following® write the correct answer in the given column.
e  Follow the instructions as given, for each set of questions _
Q.1) Name the Reformers of the following Reform Movements : 5
a)  Brahmo Samaj

b)  Depressed classes mission society

¢) Arya Samaj

d) Ramakrishna Mission

¢)  Bharat Sewak Samaj

Q.2) Write the correct alternatives : ' (16)

(i) The principal language of Tamilnadu is

a) Tamil  b) Telugu ¢) Malayalam d) Kannada

(ii) Famous man-made lake in Udaipur with a palace in the middle of it

a) Sambhar b) Pichola ¢) Mansarovar  d) Pulicat

(iif) India’s satellite launching station located on the Andhra Coast

a) Sriharikota b) Chandipur ¢) Pokaran d) None of these

(iv) A rock-cut temple in Ellora caves
a) Kailasha templeb) Meenakshi Templec) Konark Temple d)Birla Temple
(v) A place in Bihar known for the tomb of Sher Shah Suri

a) Patna b) Sasaram ¢) Gayad) Nalanda

(vi) Highest minaret in the world(290 ft.high)located in New Delhi is

a) Qutb Minar b) Red Fort ¢) Char Minar d) Jama Masjid

(vii) Cremation place of the late Jawaharlal Nehru in Delhi

a) Shanti Kanan b) Shanti Dham c) Shanti Sthal d) Shanti Vana

(viii) It was the ancient capital of the Vijaya Nagar

ay Kanchipuram b) Madurai ¢) Tanjore d) Hampy
(ix) This country is called the Gift of the Nile
a) South Africa b) Zimbabwe c) ‘Egypt d) Zaire

(x) Atown in Jordan,the birthplace of Christ
a) Jerusalem b) Rome c) Bethlehem d) Mecca

P.T.O.



Q.3) Match the following : (10)
[ Albania a)  Addis Ababa 1.
2) Bangladesh b) Riyadh 2.
3) Denmark c) Teheran - 3.
4) Greece d)  Athence 4.
5) Nepal e) Tirana 5.
6) Ethiopia f)  Budapest 6.
7) Finland g) Dhaka 7.
8) Hungary h) Kathmandu 8.
9) Iran i)  Copenhagen 9.
10)  Saudi Arabia j)  Helsinki 10.
Q.4) Name the following Tourist Attractions : &)
i) Aplace in Meghalaya with the heaviest average rainfall.
i) A mountain range in Tamil Nadu having large tea plantations.
iii)  The official residence of the President of India in New Delhi.
iv)  The city famous for Taj Mahal .
v)  A-glacier from which the Ganga originates.
Q.5) Name the rivers on which the following cities are located : 5
a) Rome
b) London
¢} Kabul
d) Madrid
e) Dublin
Q.6) Name the games the fellowing players are associated with - &3]
a)  Dinesh Khanna
b) Rod Laver
¢)  Ashok Mankad
d) Bobby Fischer
¢)  Santosh Yadav
Q.7) Name the world famous personalities for their following contributions - &)

a)

b)
c)

d)

He drafted the American Declaration of

Independence.
He abolished slavery in the U.S.

She served the destitutes in India and was awarded
the Nobel Peace Prize.

He was the South African President who was

given the Nobel Peace Prize.

How many prizes where instituted by Dr. Nobel?




Q.8) Match the following : (10)
1.Sahara Desert a) Botswana
2.Great Australian Desert b) S.W.Turkistan
3.Colorado ¢)South Sinkiang,China
4.Gobi Desert d)N.W. India and Pakistan
5.Kalahari Desert ) North Africa
6.Kyzyl Kum f) Mongolia and China
7.Kara Kum Desert g)W.Australia
8.Takla Makan Desert h)North Chile
9.Thar Desert 1) Uzbekistan
10.Atacama Desert j)California
Q.9) Name the currencies against the names of their countries given below - (10
a) Vietnam (N)
b) Portugal
c) Irag
d) Mauritius
¢) Thailand
f) Taiwan
g) Cambodia
h)  Germany
i)  Mongolia
j)  Bolivia
Q.10) Write the correct alternatives : (16)

(i) How many official languages does the UN have ?
a) 5 b) 6 c) 7 d) 8

(i) Kalinga was conquered by whome in 261 BC
a) Bindusara b) Chandragupta Maurya ¢) Ashoka d) Harshvardhan
(iif) Ranji Trophy is awarded for
a) Hockey b) Cricket ¢) Football d) Badminton

(iv) The Nubian desert is in
a) East Africa b) Russia ¢) Arabia d) Mongolia

(v) This is called the holy land
a) Chicago b) Jaipur ¢) Islamabad d) Palestine

(vi) This is called Tower of Silence
a) Jodhpur b) Mumbai c¢) Bikaner d) Jaipur

(vii) This is called the Cinema City of the world
a) Bollywood  b) Pollywood ¢) Hollywoodd) Collywood

(viii) Victoria Memorial is in
a) London b) Mumbai  ¢) Bangalore d) Kolkata

(ix) The Buddha got enlightenment here
a) Bodh Gaya b) Kusinara ¢) Buxar d) Chauri Chaura

(x) Apart from Hindi the people of U.P. speak this language the most
a) English b) Awadhi ¢) Magadhi d) Dogri

P.T.O.



Q.11) Answer the following questions : | (10)

i)  What is the highest rank in the Indian Air Force?

ii)  Where was Mahatma Gandhi born ?

iii) A town in Australia famous for Gold mines.

iv)  “He who neglects learning in his youth, loses the past & is dead
for the future”, Who said it?

v)  Which is called the “City of Golden Gate*?

vi) In which city is the film industry Bollywood established ?

vii) 1993 literature prize was won by

viii) In which town of Spain was the famous Batile of Trafalgar
fought?

ix) Where are the headquarters of UNESCO located? (City)

x) ~ When did World War I begin?

Q.12) Write True/False : &)

i)  LOTUS is a popular Spread Sheet package.

ii)  Printer is an input device.

iif) QDOS was written by Tim Paterson.

iv)  One byte is made up of 16 bits.

v) To stop and boot the operating system again is known as
RESTORE.

Q.13) Answer the following Questions : (16)
a)  Who is the 15th Lok Sabha Speaker ?
b)  Who is the first chief minister of Jharkhand?
c) Union Government announced Demonetization or Note Bandi on

d)  Who has won Liberty medal for 20149

e) What is the flight number of the Malaysian plane, that went
missing on 8th March, 2014?

f)  Who was elected the President of the National Congress Party in
20172

g)  Where was the High Court bench of Chhattisgarh established?

h)  Where is Kumbh Mela organized in Chhattisgarh every year?

i)  Which is the oldest temple of Chhattisgarh?

i),

Who is the Chief Minister of Chhattisgarh?



